Opis taksacyjny lasow i gruntow przeznaczonych do zalesienia
02/08/085/0008 - STOIJKOW

Powierzchnia [ha]

Opis siedliska, drzewostanu
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Masa drewno martwe
1 2 3 4 5 6 7 8 9 10| 11 | 12 | 13 | 14 | 15 16 17 18 19 20 21
12 -a 0,05 OoLJG 60 DRZEW 9 BRZ 40| 0,8 UM 18 16| |l 160 8 ™ 0,05 1
D-STAN OL-Js 10L 40
ZAD PODSZ wB 0,1
RAZEM: 160 8 1
12 -b 0,40 LMGSW 60 DRZEW 7BRZ 55| 0,8 UM 26 22| | 240 96 TP 0,40 16
D-STAN JD-BK-SW 2LP 110
ZAD 10Ss 30
MJS BK 55
MJIS LP 55
MJS IWA 55
MJS DB 55
MJS JRZ 55
MJIs Sw 90
MJS BK 90
MJS DB 90
PODSZ LSz 0,5
LP
os
KRU
BK
RAZEM: 240 96 16

95




1 2 3 5 6 8 9 10 11 | 12 | 13 | 14 | 15 16 17 18 19 20 21
12 - 3,53 LMGSW 80 DRZEW 9 SW 80| 0,7 PRZ 33| 26 380 1341 TP 3,53 201
D-STAN JD-BK-SW 1BRZ 60
ZAD MJS DB 60
w czesci NE- LUKA(1) 0,05ha MJS JW 60
MJS OL 60
MJS SwW 60
MJS BK 60
MJS JS 60
MJS 0S 60
MJS BRZ 80
MJS BK 80
PODSZ BEZ.C 0,3
LSz
JRZ
0s
RAZEM: 380 1341 201
12 -d 0,31 LMGSW 80 DRZEW 3SW 80| 0,8 um 34| 28] 1 365 113 TP 0,31 19
D-STAN JD-BK-SW 2LP 80
ZIEL 2JwW 60
PLH020035;Sied| 91E0 1JS 80
1BK 110
1IW 110
MJS BK 60
MJS JS 60
MJS JD 80
MJS BRZ 80
MJS DB 110
PODSZ LSz 0,5
BK
Js
RAZEM: 365 113 19
12 f 0,22 LEG 120 PRZES JS 65 30| 23] 1 3
SUKCESJA iOL-JS wB 65 35| 19 v 3
ZAD oL 65 28] 22 m 1
PLH020035;Sied| 91E0 PODSZ Js 0,2
wB
RAZEM: 0 7 0

96




1 2 5 6 8 9 10 11 | 12 | 13 | 14 | 15 16 17 18 19 20 21
12 g 0,49 LMGSW 80 DRZEW 7SW 100] 0,3] LUZ 37 28] 220 108 IVD 0,49 22
D-STAN JD-BK-SW 1JS 70 AGROT 0,30
ZAD 1IW 30 ODN-ZLOZ 0,30
PLH020096 1BRZ 30
MJS BK 30
MJS JW 70
MJS JW 100
MJS JD 100
MJS DB 100
PODSZ LSz 0,9
RAZEM: 220 108 22
12 -h 0,34 LMGSW 60 DRZEW 8 BRZ 45| 0,8 um 19 29[ I 215 73 TP 0,34 12
D-STAN JD-BK-SW 2 BRZ 55
ZAD MJS SwW 45
MJS 0S 45
MJS SO 45
PODSZ BRZ 0,1
LSz
RAZEM: 215 73 12
12 -i 0,48 LMGSW 60 DRZEW 5BRZ 45| 0,8 um 19 29[ I 240 115 TP 0,48 20
D-STAN JD-BK-SW 35S0 45
ZAD 2 SwW 45
MJS 0S 45
PODSZ BRZ 0,1
LSz
RAZEM: 240 115 20
12 4 0,48 OLJG 60 DRZEW 6 OL 60| 0,5 PRZ 29| 20 m 150 72 TP 0,48 7
D-STAN OL-JS 40L 45
SZCH MJS 0S 35
w czesci NW- LUKA 0,16ha MJS BRZ 50
PODSZ (o74Y] 0,1
oL
RAZEM: 150 72 7

97




1 2 3 5 6 8 9 10 | 11 12 13 14 15 16 17 18 19 20 21
12 -k 0,81 oLIG 60 DRZEW 4 0L 55| 0,6] UM 29 21 1 195 158 TP 0,81 19
D-STAN OL-JS 30L 40
SZAD 1BRZ 55
w czesci C- LUKA(1) 0,16ha 10S 45
w czesci W- LUKA(1) 0,13ha 1BRZ 35
MJS OL 25
PODSZ CzZM 0,4
IWA
RAZEM: 195 158 19
12 -l 0,29 LMGW 60 DRZEW 6 OL 45| 0,8] UM 19 19 1 240 69 TP 0,29 12
D-STAN JW-BK-SW 2BRZ 45
ZAD 10L 75
1BRZ 75
MJS IWA 45
MJS BRZ 55
PODSZ CzZM 0,3
IWA
RAZEM: 240 69 12
12 -m 0,07 oLJG 60 DRZEW 6 BRZ 60| 0,6] PRZ 29 221 1l 140 10 TP 0,07 1
D-STAN OL-JS 2BRZ 40
SZCH 20L 40
MJS OL 60
PODSZ IWA 0,7
CzZM
wB
RAZEM: 140 10 1
12 -n 0,41 oLIG 60 DRZEW 100L 65| 0,7] UM 29 21 1 230 94 TP 0,41 14
D-STAN OL-JS MJS OL 50
SZCH MJS BRZ 65
MJS OL 80
PODSZ CzZM 0,3
oL
RAZEM: 230 94 14
12 -0 0,21 oLIG 60 PRZES oL 65 30 21 1 5
SUKCESJA {OL-JS
ZAD
RAZEM: 0 5 0

98




1 2 5 6 8 9 10 11 | 12 | 13 | 14 | 15 16 17 18 19 20 21
12 p 0,04 LMGSW 80 DRZEW 10 SW 60| 0,7 um 271 21 310 12 TP 0,04
D-STAN JD-BK-SW MJS SO 60
ZAD PODSZ BEZ.C 0,6
RAZEM: 310 12
12 -r 0,04 LMGSW 60 DRZEW 10 BRZ 45| 0,6] PRZ 18[ 19 n 135 5 TP 0,04
D-STAN JD-BK-SW MJS SwW 45
ZAD MJS 0S 45
MJS BRZ 50
MJS SwW 50
PODSZ BRZ 0,4
Sw
RAZEM: 135 5
12 -s 0,24 LMGSW 60 DRZEW 6 BRZ 60| 0,7] PRZ 28] 23] 1 235 56 TP 0,24
D-STAN JD-BK-SW 20S 60
SZAD 1JS 60
1BRZ 45
MJS 0S 45
MJS IWA 45
MJS OL 45
MJS BK 60
MJS OL 60
MJS JW 60
PODSZ Js 0,4
(74
LSz
RAZEM: 235 56
12 -t 0,05 LMGSW 40 DRZEW 40S 55|  0,6] PRZ 26] 22 185 9 IVD 0,05
D-STAN JD-BK-SW 3BRZ 55 AGROT 0,05
SZAD 30S 30 ODN-ZLOZ 0,05
MJS OL 20
PODSZ 0s 0,1
RAZEM: 185 9

99




1 2 3 4 5 6 8 9 10 11 | 12 | 13 | 14 | 15 16 17 18 19 20 21
12 -w 0,19 LMGSW 60 DRZEW 6 BRZ 25| 0,6] PRZ 15[ 15[ 0 80 15 T™W 0,19 2
D-STAN JD-BK-SW 3JS 25
SZAD 1IWA 25
MJS BRZ 35
MJS OL 25
PRZES Sw 90 a1 271 15
BRZ 75 38| 23] 4
PODSZ BEZ.C 0,6
(74
JRZ
RAZEM: 80 34 2
12 -x 0,20 OLJG 60 DRZEW 8 OL 70| 0,6] PRZ 32| 22 m 220 44 TP 0,20 5
D-STAN OL-JS 2 BRZ 70
SZAD MJS JS 60
MJS JW 60
MJS OL 90
MJS DB 90
MJS JW 90
PODSZ (74 0,6
wB
LSz
RAZEM: 220 44 5
12 -y 1,73 LMGW 60 DRZEW 6 OL 60| 0,7] um 30 23] 265 458 TP 1,73 69
D-STAN JW-BK-SW 3BRZ 60
ZIEL 1w 60
MJS SwW 60
MJS JS 60
MJS OL 80
MJS JW 100
MJS SwW 100
MJS DB 120
PODSZ LSz 0,6
(74
Sw
Iw
RAZEM: 265 458 69
OGOtEM| 1015 0,43 0,00 2887 435

100




